ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

2018 FW&F = HRMFET

— SRS 1~8/MVE, BNE4S, X245, EHERSESTMEENEL.

(1) [EX] % B.

X2 g
€ mizln(e" +ax?+bx) im & T oY1 2+bx !

li
(2] lin(}(ex +ax’ +bx)” =1, il = e , =" o« =1,
X

1
A at+br—1 (=+a)x’ +(1+b)x+o(x?)

- lim : =0.. b =1lim-2 . =0,
x—=0 X x—0 X
1+b=0 1
1 0 2, & B.
STa=P p=1
(2) [%%]Y & D.
1
O S A
(%] X T D:fiE 45 £, '(0) = hrg = hn01+ ==
X—> X x—> X

J-1 . =Mk
£1(0)= lim = i = lim 2 =%, £90) % £ 10) BRLLAH G,
x> X x—> X

Q) [EXYIED

(51 PBERNx=-1x=0, Hx<-18, f(x)+g(x)=-1+2+ax=1-ax, #
—“1<x<08, f(x)+g(x)=-1+x, #x20, f(x)+g(x)=1+x-b, % L%

l—ax,x<-1,
f(x)+gx)=<-1+x,-1<x<0,
1+x-b,x>0.

lim (f () +g(x) =1+a, lim (f(x)+g(x)=-2,".a=-3,
lim(f(x)+g(x)=-L Im(f(x)+g(x))=1-b,..b=2, #&D.

4) [EXRY1ED
[%%]N?ﬁﬁAHf@%rw+%J%@<Q@%J%ﬁﬂ,

ﬁ%ﬁﬁB:mpr—@—§%anm<Q@%ﬂ?>a

N?ﬁﬁczmf@yrw—%JK@<Q@%j%ﬁm,

i% D.

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X T HZEEHE A G 1



ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

) [&EXx] & C.

L) M = dex jzdx T
1+ x?
N = j 1+x 11+xdx+IIH—xxdx
- e - e -1 e

l+x 11+x

+J»l’;1+xxdx,J-:1+x

e

dx= —zdx< ldx=2:

X

e

I1§1+xdx<jlzldx— 3 N<J.2 Idx = M.

K =[2 (1+Joosx)dx > 7,. K > M > N & C.
2

6) [ZFE]1C
[as " a-ae fjas] -y

2+ D %F y WA AR

Fk= [[ (1= xp)dedy = [[ dedy = 2[[ dxdy
D D D

1 2-x% 1 ) 1 1 % N
:ZJOdXJX dy:2j.0(2—x —x)dx:2(2_§_5)25’ % C

(N [EFFE] & A.
[(##%) wA~B,..E—A~E-B ..r(E-A)=r(E-B)

Kk B:r(E-B)=1; C:r(E-B)=1; D:r(E—B)=1i% A.

(8 [EXR] A
[ W AB=C, WIHEFE A MR EHT ARIR C 7R EH,

FiLh(4 AB)—> (A O), Bl r(AAB)=r(A0)=r(4), HIERIE A.

—EEH: o~14 N8, BNEAS, £24 5. ERERSETAREENE L.

(9) lim x’[arctan(x +1) —arctan x] =

X—>+0

i PR B H HE E B A

1
arctan(x +1) —arctan x = ” Ee(x,x+1).

27

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 4T 2 BRHE A E 2



AT FESERKEN RO Q #F: 983277199 837961369 904525171 fifs: KBXZ111 HiEHWFE IR
—X 45 EEZERBNER

H4 x — 4o if & — +00.

=1.

SR = lim xP -
* X—>400 1+§

(10) Hi% y = x" +2In x £ 343 AU )L /AR
fiR: 52 3050, +o0)

y' = 2x+z,y —2+—2
x’

n

Ly :2+_—§:0:>x:1>0.
x

AR (L), Rkk=y(1)=4.

SOy =4x-3.

IO e —
5x"—4x+3

o [ L
5 x"—4x+3 5 (x—l)(x—3)

:‘5 (ﬁ_ﬁ

:_1n|x 3|‘+®_ n2
x—1]F
=cos’ ¢t
(2> iy e = Do .
y=sin’t 4
dy
d dt
. dy _dy/dt R d’y (dxj/ . —sec’t
S ode dx/dr T dx? dx/dt —3cos’ tsint
bl dyl 8
de|=f A= 32
cxe—Pl I
(1+27)

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 4T EZ IR AT 3



ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

(13) #WESz=2(x,y) iR Inz+e = xy HisE, )Flu% = :
Xl
2

fidt: Inz+e' =xy x=2,y:EHﬂ“, z=1.

FIFEPILRT x K 545
1 6z ., Oz
— 4T ==
z Ox ox
1
fx=2,y=2.2=IRABE| =
2 e

(14> & A RNINERE, a,a,,a, AEETRNREH, & Ao, =2a, +a, +a;

Aa, =a, +2a,, Ao, = —a, +a; W A PSEREE N

2 0 0
f#: mERE A(e,,.a)=(a,a,,a) 1 1 -1
e SN |
2 0 0
(e, Wi, L A~B=|1 1 -1|.
1 2 1
o A, B R AR AE.
A-2 0 0
AE-B|=| -1 A-1 1
-1 -2 A-1
:(4—2)[(1—1)%2}:0
S ASEREE N 2 .

FRERE: 15~23 /i, 3£ 945y, MENBHXFUH. IERIESCRELR. HHE

=

BuZUfEEME L.

Ie arctanve' —1dx = —J.arctan Ve' —1de™

1

X

e

-arctan+/e” I 2 L dx

1+(e" —

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 4T 2 ERE A E 4



NG FEEKEGC Q BE: 983277199 837961369 904525171 ffS:

ARG B R

KBXZ111 HEFHFE R

= lezx -arctanve" —1— i—f

2

e’ 4
X
Ve =1
:lez“-arctan\/e - ——J 1+1

=lezx-arctan\/e - ——J.(\/e -1+

\/_)d(e -1)
3
:%ez"-arctan\/e —l——[ (e —1)*+2 e"—lJ+C

3
=%ezx~arctan Ve'—1- é—(ex -1)2- ;—\/ex -1+C .

16. (1) IO tf(x—t)dt
LSu=x—t Wt=x-u, dt=-du

.f:tf(x—t)dt = j:(x—u) £ (u).(~du)

= I: (x—u) f(u)du —I: uf (u)du
JF IR A -

jo F)dt+x jo f(u)du - I:uf(u)du = ax’
AR x R
F(x)+ jo F(u)du + xf (x) - xf (x) = 2ax
o fx)+ jo f(u)du =2ax
= f(0)=0
BF@) = [ fu)du W F(x) = f(x)
F'(x)+F(x) = 2ax
CF=e et [ e 1 2axan]
= [C+ j 2axe*dx]
= ¢[C+2a(x—1)e’]

¥ FEO)=0fAG: C=2a

AT REZKER PG Q BE: 983277199 837961369 904525171 s :

X EEREHFNEW S

KBXZ111 LiFEFERE T



ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

s F(x)=2ae " +2a(x-1)

f(x)=-2ae " +2a

[ Foyd
(2) Of =1

J: (2ae™ +2a)dx =2ae |, +2a=2a(e” —1)+2a=2ae" =1

e
Soad=—

17. )5 = _[02” de.:(X) (x+2y)dy

y(x)
o Vdx

= [+
= [} o)+ 3 (s

#tx=t—sint  y(x)=1-cost

A = J.OZH [(t—sint)(1—cost)+(1—cost)* [(t —sint)
= Jjﬂ [(t—sint)(1—cost)’ +(1—cost)’ dt

= Jjﬁ [t(1—cot)’ —sint(1—cost)* +(1—cost)’ ldt

= Jjﬁ (t—2tcost+tcos’ t)dt—%(l—costf

27 r 2 3
o +j (1-3cost+3cos” t—cos’ t)dt
-

1o, . o e 1.1 1 . .
_Et o —2(tsint+cost)|, +ZO +2—[2—+s1n2t+20052t]f) —0+2 7—3sin¢ ’”fﬁ
+3(%+ SIN21x _ (sin £ %sin3 D7

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 45 HEEEEEE A G 6



ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

=27+t + 2+ 3
=372 +57
18. i1ie: (D x=11F, AR
(D O<x<Ibf REFx—In*x+2kInx-1<0
#f(x)=x—In"x+2klnx—1

x—2Inx+2k
[ =T

# g(x)=x-2Inx+2k,x (0,1)

g'(x)=l—%<0, g (x) B,

g(x)>g()=1+2k>1+2(In2-1)=2In2-1>0

W f(x)>0, f(x)BiFEE, ()< f(1)=0, L.
D x>1 RAFEx—In’ x+2kInx-1>0

#f(x)=x—In"x+2klnx—1

£ = x—21nx+2k’ (x>1)
x

#g(x)=x-2Inx+2k, (x>1)

2 {1 <x<2, g'(x)<0, g(x)ifs

! e 1 — N
&) x  |x>2, g'(x)>0, g(x)ibi

Hg(x)2 g(2)=2+2k-2In2>2+2(In2-1)-2In2=0

W (x) 20, f(x) BN, f(x)= f1)=0, S50z,
gi b, AL,

19.%x+y+z=2

X
ey =x,r =—,8, =nr" =—
2 4r

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 4T EZ TR A S 7



ARG FESEKET L Q BE: 983277199 837961369 904525171 ffs: KBXZ111 HiEHwrE g
—X 45 EEZERBNER

)y 2_ Y
da=y,a==,S, =a*=2—
a=y,a PRAE a T
2
3b:Z,b:£,S3:l££'Si zzﬁz
3 233 3 36
X y2 \/gzz
/\L s 91 =—+—+ +/l + + 2
WLy n )= e T Ty T YT
8—L:i+ﬂ,:0
ox 2x
Z—LZ% A=0 x=-27l y_4_x
az 2  Hyy=-84 37T3 ’
z
—= +A=0 _ e el
oz 1243 z= 6‘““ N
a—L:x+y+z—2=0
oA
. 2
(1+4+i)
4 4 2
Il (1+ +i) 2, y=_
4 3[
(1
2_36 2
(1+4+i)

A B (x, v, 2, A) BURAE S /M AL

2 2 2
s%dwjﬁ#\js:x—ﬂ—ﬁ@ __ 1
4r 16 36 1+33+4

|9y 1 9y
20. 5= ‘/Tdy—a(y—l) /T

s pds,
2 °9

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—X 45 EZ IR A G 8



ARG FESEKES RO Q #F: 983277199 837961369 904525171 5!

ARG B R

KBXZ111 HEFHFE R

(1+4x )x

S(x)_———j

dS(x)‘ ldx 43 2dx, 4dx e
6H 75 dt 9 ar’ 9dr

:l(4+i.3.9.4)_i.4.9
2 9 9

=10

21AEH:% f(x)=e" —1—x, x>0 Uf

' e" -1
S

>1,

x,_l
>1, x,>0;
xl

Mifie™ = ©

KA x, > 0 I BCF A 9NEUIE
n=11,x >0,8%57;
n=k(k=12,-- ) AGx, >0 Wn=k+104%H

e —1

Xy

exk+l —

>1, bl x,,, >0;

x>0 7 F .

X, X,

e —1 e —1

—Ilne™ =In ;
X x,e

n n

X xn+1 _xn = ln

wg(x)y=e"—1—xe",

AT REEKEG O Q#f: 983277199 837961369 904525171 fillfH:

XA EEREEAE 9

KBXZ111 LiFEFERE T



AT FESERKEN RO Q #F: 983277199 837961369 904525171 fifs: KBXZ111 HiEHWFE IR
—X 45 EEZERBNER

x>0, g'(x)=e"—e"—xe" =—xe* <0,
FTLL g(x) i, g(x) < g(0) =007 " —1< xe*,

e’ —1

Xn

Hitx  —x =In

<Inl=0,x, By,

X €

n

H LT FEAE U AT R0 lim x, 7 7E.
#limx, = A,F de’ =e’ —1;

n—>0

HRgx)=e" —1-xe" REME—RZE A x=0,1LL 4=0.

QM £ (x,,%,,%,) =0 74

x,+ x,=0,
X, +ax, =0,
1 -1 1 4 -
RS A=|1 0 1|——|0 1 1
1 0 a 0 0 a-2

a¢25¢7 F(A)=3, ﬁ%%éﬂﬁu&#%: x1=x2=.x3=
a=21t, r(A)=2, HEAETTH: x=k|-1|keR.

V=X —X, X5,
Ma#20,%y, =x,+x,, XAk,

Y3 =X, +ax;,
UL HHTEIEA yi + y; + 35 5
a=20, f(x,%,%)=(x —x, +Xx)" +(x, +x)° +(x, +2x,)°
=2x] +2X2 +6x7 —2x,x; + 6x,x,

X, —3)63)2 N 3(x, er3)2

=2(x, - 5

B

AT REZKER PG Q BE: 983277199 837961369 904525171 #ifE: KBXZ111 LHiFHHF L Lif
—Xf S L PR N & 10



NG FEZEKE RO Q. 983277199 837961369

904525171 #fE:

ARG B R

KBXZ111 HEFHFE R

LRSI v + 2.
Q3):(1) A 5 B =4, r(A) = r(B) .

1 2 a 1 2 a
noh
Xl4=/t 3 0 1 3 0[=0,
2 7 -a 3.9 0

1 a 2 1 a 2
Bt
FiB|Bl={0 1 1|2=0 1 1|=2-a=0,
-1 1 1 0 a+l 3
a=2.
() AP = B AU T718 AX = B
12 21 22 10 6 '3 4 4
(4B)=[1 3 0 0 1 1|—>/0 1 =21-1 -1 -1
2 7 20-1 11 00 010 0 0

—6k,+3 —6k,+4 -6k, +4
"P=| 2k-1 2k,—-1 2k,—1 |;
kl k2 k3

P AL TEL|P|# 0 B k, # .

—6k,+3 -6k, +4 —6k,+4

B P=| 2k—1  2k,—1 2%k =1 | Hdvk k,k IAEEHEL Bk, # k, .

k 1 k2 k3

NG FESEKEG RO Q #E: 983277199 837961369

904525171 WifE

AT EZ RN G 1L

: KBXZ111 LiEHERHE R



